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Q1. Answer the following questions in 20-30 words. (A Tiger in the Zoo)

"If he roars at you as you're dyin’/ You'll know it is the Asian Lion..."
Comment on the irony of the quote from the poem "How to Tell Wild
Animals”.

Hyperbole is a literary device used when the poet exaggerates an image to
make it comical.

State two instances from the poem "How to Tell Wild Animals" where the
literary device is used.

"If there is nothing on the tree, / 'Tis the chameleon you see." Briefly explain
the paradox of the quote.

iiii)

Q2. Answer the following questions in 40-50 words.

Q11

Answer in 40-50 words

If you were the family member of the young seagull, would you also
decide not go near him? Elaborate with reason.

The young seagull “failed to muster up courage to take that plunge”. In
what way can the reference to the ‘plunge’ here be both literal and
metaphorical? Explain.

The ‘fight or flight response’, that is, to stay and face a situation or run
from it- is an automatic reaction to an event perceived as stressful or
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Q2. Answer the following questions in 100-120 words.

Imagine that the narrator shared his story with friends and family once he
got home. One of them, a spiritual leader, decided to incorporate the story
as part of his weekly sermon to the congregation. Another friend, a
psychologist, worked the story into his next lecture on survival instinct and
crisis management.

Do you think the two interpretations of the story would be different? If so,
how?

What insights might the narrator get about his mysterious experience, if he
were to attend both the sessions?

In a parallel world, the pilot of the black aeroplane narrates his adventure in
a story titled ‘The Old Dakota’. You come across an excerpt from the story,
which responds to the ending questions of ‘Black Aeroplane’ and describes
the black aeroplane pilot's decision to fly away after watching the Dakota
land.
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CHAPTER: LIGHT - REFLECTION & REFRACTION

Multiple Choice Questions:

Q.1

Q.2

Q.3

Q.4

Sunil conducts an activity using an object of height 10 cm and a convex mirror of focallength 20
cm. He placed the object at a distance of 20 cm in front of the mirror. What is likely to be height of
the image produced?

(a)1cm

(b) 5cm

(c) 10 cm

(d) 20 cm

The image shows the path of incident rays to a concave mirror.

Object

Oe
=

|

Where would the reflected rays meet for the image formation to take place?
(a) behind the mirror

(b) between F and O

(c) between C and F

(d) beyond C

A student conducts an activity using a concave mirror with focal length of 10 cm. Heplaced the
object 15 cm from the mirror. Where is the image likely to form?

(a) at 6 cm behind the mirror

(b) at 30 cm behind the mirror

(c) at 6 cm in front of the mirror

(d) at 30 cm in front of the mirror

Magnification produced by a rear-view mirror fitted in vehicles

a) Is less than one

b) Is more than one

c) Is equal to one

d) can be more than or less than one depending upon the position of the object in front of it.




Conceptual problems based on Mirrors, Ray diagrams &

Magnification
s
Q.5 A ray of light LM is incident on a mirror as shown in the figure. " \</\1
The angle of incidence for the ray is the angle between it and the E
line joining the other points in the figure. Name these two points. 2

Q.6

Q.7

Q.8

The linear magnification produced by a spherical mirror is - 1/5. Analyse this value and state the
(i) Type of mirror (ii) Position of object with respect to the pole of the mirror
Draw a ray diagram to show the formation of image in this case.
A spherical mirror produces an image of magnification - 1 on a screen placed at a distance of 50
cm from the mirror.
(a) Write the type of mirror.
(b) Find the distance of the image from the object?
(c) What is the focal length of the mirror?
Draw the ray diagram to show the image formation in this case.
Identify the mirror which
(i) can give virtual as well as real image of the object.
(ii)  will always give virtual image of same size of an object.
(iii)  will always give virtual & diminished image of object.

(iv) isused by doctors in examining teeth.

Numerical problems based on Mirror formula

Q.9

Q.10

Q.11

Q.12

An object is placed at a distance of 20cm from a convex mirror of focal length 25cm. Calculate the

position of the image. Discuss its nature.

A 2.0-cm-high object is placed at a distance of 20cm from a concave mirror. A real image is formed

at 40cm from the mirror. Calculate the focal length of the mirror and the size of the image.

An object is placed at a distance of 12cm from a concave mirror. The image formed is real and four

times larger than the object. Calculate the distance of the image from the mirror.

When a concave mirror is placed facing the sun, the sun’s rays converge to a point 10cm from the
mirror. Now, an erect, 2-cm-long pin is placed 15 cm away on the principal axis of the mirror. If
you want to get the image of the pin on a card, where would you place the card? What would be

the nature and height of the image?
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TOPIC : TRIANGLES

Q1.
In the given Fig. PQR is a triangle, right angled at Q. If XY || QR, PQ = 6 cm,
PY =4 cmand PX : XQ =1 : 2. Calculate the lengths of PR and QR.

I]

Q2.
In the given figure, ABCD is a parallelogram. AE divides the line segment BD

intheratio1 : 2. IfFBE =1.5 cm find BC.

Q3.

[f the ratio of the corresponding sides of two similar triangles is 2 : 3, then find the
ratio of their corresponding attitudes.

QA4. If ABC and DEF are similar triangles such that A = 47° and £E = 63°, then the
measures of £C = 70°. Is it true? Give reason.

Q5. In Fig. 7.17, AO/OC = BO/OD = 1/2 and AB = 5cm. Find the value of DC.



Fig. 7.17

CASE STUDY QUESTION

.
-
®

P, !:","a

Vijay's Howse

Ajay's House

Vijay is trying to find the average height of a tower near his house. He is using the
properties of similar triangles.The height of Vijay's house if 20m when Vijay's house
casts a shadow 10m long on the ground. At the same time, the tower casts a
shadow 50m long on the ground and the house of Ajay casts 20m shadow on the
ground.



1. What is the height of the tower?

a) 20m

b) 50m

c) 100m

d) 200m

2. What will be the length of the shadow of the tower when Vijay's house casts a
shadow of 12m?

a) 75m

b) 50m

c) 45m

d) 60m

3. What is the height of Ajay's house?

a) 30m

b) 40m

c) 50m

d) 20m

4. When the tower casts a shadow of 40m, same time what will be the length of
the shadow of Ajay's house?

a) 16m

b) 32m

c) 20m

d) 8m

5. When the tower casts a shadow of 40m, same time what will be the length of
the shadow of Vijay's house?

a) 15m

b) 32m

c) 16m

d) 8m
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Q.1. Study the following table carefully and answer the following questions:

CLASSIFICATION OF SOIL
A variety of relief features, landforms, climate and vegetation types have contributed to
the variety of soils in India.

SOIL FORMATION CHARACTERISTICS REGIONS COVERED

Alluvial Soil Deposition of sediments - Most widely The entire
done by rivers (mainly spread and Northern Plains
Ganga, Indus and important for (Punjab, Haryana,
Brahmaputra) and their cultivation Uttar Pradesh,
tributaries. Weathering, - Consist of sand, Bihar, West Bengal,
erosion and deposition of silt, and clay Assam). Also extends
rocks play an important - Soilis further in
role in the formation of divided into Rajasthan, Gujarat
the soil. Khadar and and eastern coastal

Bhangar plains (deltas of

- Contain potash, Mahanadi,
phosphoric acid, Godavari, Krishna,
and lime Kaveri)

Black Soil [The spread of igneous - Also known as Covers the entire
rock becomes a major Regur Soil Deccan Trap of India
factor along with - Ideal for the that includes
weathering, erosion and cultivation of plateaus of
deposition for the cotton, therefore  [Maharashtra,
formation of Black Soil. also known as Madhya Pradesh,

Black Cotton Soil  [Chattisgarh.

- (Clayey material of
the soil

- High moisture
holding capacity

- Richin calcium
carbonate,
magnesium, potash
and lime.

- Develops deep
cracks during hot
weather

1|Page




Red and Develops on crystalline - Developsin low Found mainly in
Yellow igneous rocks. Diffusion rainfall areas parts of Odisha,
Soil of iron in the soil gives Chattisgarh,
red colour to the soil.
Further hydration of the The soil contains | piedmont zone of
soil gives it the yellow traces of minerals | Western Ghats.
colour. like iron.

Laterite Develops in areas with Humus in the soil | Found in

Soil high temperature and is low as Karnataka, Kerala,
heavy rainfall. Intense decomposers get | Tamil Nadu,
leaching leads to the destroyed due to | Madhya Pradesh,
formation of the soil. high temperature. | parts of Odisha and
(Leaching - Removal of Can be used for Assam.
top layer of the soil due cultivation
to heavy rainfall) (mainly tea,

Climate becomes the coffee, cashew

factor for formation. nut) by adding
manures and
fertilizers.

Arid Soil | Dry climate, high Range from red to | Mainly found in the
temperature leads to brown colour. Soil | western part of
fast evaporation and is generally sandy | Rajasthan and parts
lack of humus and in texture and of Gujarat.
. saline in nature.

Lower horizon of
the soil is
occupied by
kankar.

Forest and | Covers mainly the Loamy and silty Found in hilly and

Mountain | Himalayan states. Rich to coarse grain mountainous areas

Soil humus makes the soil where sufficient
fertile forests are found

A. Identify the type of soil on the basis of the characteristics given below: (1)

i)
ii)

iii)

B. The most widely spread soil in India is:

2|Page

Develops deep cracks during hot weather.

Also known as Regur soil locally.

Ideal for cotton cultivation a. Alluvial Soil
b. Black Soil

c. Laterite Soil

d. Red and Yellow soil

(1)




a. Alluvial Soil

b. Black Soil

c. Laterite Soil

d. Red and Yellow soil

C. Rich humus makes the Forest and Mountain soil fertile due to: (1)
a. Loamy and silty nature of the soil
b. High presence of vegetation and wildlife here
c. Climatic conditions
d. High rate of weathering and erosion done here

D. ‘Laterite soil is less fertile.” Why? (D

E. Distinguish between Khadar and Bhangar. (3 points) (3)

F. Explain the formation of Black Soil. Enlist the characteristic features of it. (3)

Q.2. Read the following extract and answer the following questions: (Case Study Based
Question) (4)

« Ageada 21 b 8 noo-binding, volustarily kuplemented action plen of
the United Nutions with regaed 0 sustainable development.

« It s a product of the UN Confervacs on Ervironment sad
Deveiopment (UNCED) heild in Rio de Janciro, Braadl in 1902

» I is en sotion agends for the UN, ofher multiialersd
and individual governments sromnd the world that cen be cxrcuted a2
locsl, national, and global kevels.

« The *21° im Agenda 21 refees o he 2 1t Contury.

« Agrada 21' goal is 10 help the environment and was agreed at Rio
Tarth Sumunit in 1902

« Local Agenda 21 i Agenda 21 om a local scelie, a saying b “think
ghobally act locally

a) What is the prime objective of introducing Agenda 217 (D
b) Where the meet for Agenda 21 was held? (D
c) How far do you think Agenda 21 is a success?Justify your answer. (2)

Q3. On the political map of India, locate and identify the soil types found in India.

3|
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Lies den Text. Was ist richtig und was ist falsch?
Liebe Frau Dr. Breuer

Jenny und ich kennen uns jetzt schon seit sieben Jahren. Sie ist meine
beste Freundin. Aber jetzt nervt sie mich. Jeden Tag das gleiche:
Zwischen 17:30 und 20:15 Uhr sitzt sie nur vor dem Fernseher und
sieht sich diese Serien an. Da kann ich sie nicht anrufen.Sie geht nicht
mal ans Telefon. Ich verstehe nicht, wie kann man nur drinnen sitzen
und diese bléden Serien angucken? Das Wetter ist jetzt so toll, Ich will
Fahrrad fahren, aber sie hat keine zeit dafiir. Deshalb treffe ich mich
mit anderen Freunden. In der Schule hort sie dann, dass ich etwas mit
anderen Freunden zusammen gemacht habe,und dann sie ist sauer
auf mich. In letzter Zeit haben wir immer wieder Streit. Aber ich will
das nicht.Unsere Freundschaft ist mir sehr wichtig. Aber manchmal
denke ich, ich bin meiner Freundin nicht mehr so wichtig. Ich
glaube,andere Freunde verstehen mich besser als sie. Was soll ich nur
tun?

Konnen Sie mie einen Rat geben?

Annika

1. Jenny guckt sich immer Computerspiele an.

a) Richtig
b) Falsch

2. Annika und Jenny telefonieren oft Nachmittags.

a) Richtig
b) Falsch

3. Annika verbringt Zeit jezt mit anderen Freunden.

a) Richtig
b) Falsch




4. Jenny streitet sich mit Anikas Freunden.

a) Richtig
b) Falsch

5.Annika will Jennys beste Freundin bleiben.

a) Richtig
b) Falsch

6. Frau Breuer ist eine Arztin.

a) Richtig
b) Falsch
7.Jenny schreibt diesen Brief an Frau Breuer.

a) Richtig
b) Falsch
8. Die Freundschaft fiir Annika ist nicht wichtig.

a) Richtig
b) Falsch

9. Jeden Tag macht Jenny das gleiche..

a) Richtig
b) Falsch
10. Annika mag Fahrrad fahren.

a) Richtig
b) Falsch.

Lies den Text. Was ist richtig und was ist falsch.

Bist du romantisch? Dann musst du unbedingt mal eine Schifffahrt
hier machen! Eine Gegend wie im Madrchen: romantische Burgen und
spannende Geschichten. Dieser Fluss fasziniert die Menschen seit
Jahrhunderten. Er ist sehr lang und verbindet den Norden mit dem
Siiden. Ich heifde iibrigens Felix und komme aus Bingen, bekannt
durch die " Loreley". Im Sommer mache ich hier gern Mountainbike-
Touren mit meinen Freunden.

11. Der Fluss heisst Loreley

a) Richtig




b) Falsch
12. Der Fluss ist nicht sehr lang.

a) Richtig
b) Falsch
13. Felix hat Freunde.
a) Richtig
b) Falsch

14. Er mag Mountain Bike.

a) Richtig
b) Falsch
15. Die Loreley verbindet den Norden mit dem Siiden.
a) Richtig
b) Falsch

GRAMMATIK (Choose the correct option)
16. Ich habe einen braun __ Schreibtisch.

a)en
b)er
c)es

17. Was kaufst du? Das blaue ___ T Shirt.
a)e

b) er
c)en

18. Peter ist ein arrogant ___ Junge.

a)es
b)en
c)er

19.Die eng ___Jeans meiner Freundin sind wirklich cool.

a)er
b) es
c)en

20. Wir suchen ein klein __ Haus.
a)es

b) en
c)Jem




21.Am letz __ Montag hat es geregnet.

a)er
b)en
c)Jem
22. Nikos ist ein gut __ Freund von Lars.

a)es
b) er
c)Jem
23.Ich komme ___ Dresden.

a) auf
b)aus
c)in

24. Ich muss heute Arzt gehen.
a) zu

b)zum
c)bis

25. Freitags gehe ich den Tennisclub.

a) bei
b)in
c)auf
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Q. Lisez le passage et répondez aux questions :
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